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10.

If two operators A and B commute, what can be said about their simultaneous
eigenslates?

a. They do not exist b. They are identical

¢. They are orthogonal d. They are parallel

What is a Hermitian operator?
An operator that operates only on b. An operator that is equal to its own

Hermitian matrices adjoint
An operator that only works in a d. An operator used in the study of hermit
" solitary system crabs

In quantum mechanics, what does the eigenvalue of a Hermitian operator represent?
a. Probability density b. Energy
¢. Spin d. Time

In quantum mechanics, what physical quantity is associated with a non-commutative
pair of Hermitian operators?

a. Position and momentum b. Spin components

c. Energy and time d. Angular momentum
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5. a. If, A and B are hermitian, Find which of these are hermitian? 2+3+5
AAt, AAt+ AtA, A+ At, A- At =10

b. Derive the Schrodinger’s Wave Equation for a particle in a 3-D
box of length ‘I’.

c. construct the wave function plot for a particle in a 1-D box of
length ‘I’ for n=2 quantum state by calculating all the values of
‘I over the entire box and calculate the 2nd excited state energy
for the particle in the same box.
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